A.
Write the Chemical formula for the given name: 
Potassium Nitrate





KNO3
Tungsten (VI) Chloride




WCl6
Molybdenum (VI) Oxide




MoO3
Iron (II) Oxide (Ferrous oxide)



Fe2O3
Cupric formate





Cu(HCOO)2
Cuprous acetate





Cu(CH3COO)
Barium Sulfate





BaSO4
Aluminum Phosphate




AlPO4
B.
Now write the name of the chemical with the listed formula.

Aluminum Oxide





Al2O3
Plumbous Sulfide





PbS

Ferric telluride





Fe2Te3
Calcium Permanganate




Ca(MnO4)2
Rubidium Sulfite





Rb2SO3
Cesium hypochlorite




CsClO


Tin (IV) perchlorate, Stannic Perchlorate

Sn(ClO4)4


Indium Oxide





In2O3
C.
Some species without metals 
(Check pp. 91-94)

Silicon Dioxide





SiO2
Carbon Disulfide





CS2
Sulfur Hexafluoride




SF6
Hydrofluoric acid





HF

Sulfuric acid






H2SO4
Phosphoric acid





H3PO4
1. Which of these pairs of elements would most likely combine to form a molecular compound?

(a) 
K and Cl

(b) 
P and F

Correct – 2 non-metals
(c) 
Ba and Mg

(d) 
Al and O

(e) 
Cs and Br

2. Which of these pairs of elements would be most likely to form an ionic compound?

(a) 
Fe and K

(b) 
Na and S

Correct – metal + non-metal 
(c) 
N and F

(d) 
Se and Cl

(e) 
P and Br

3. Which of the following are correct formulas for ionic compounds? For those that are not, give the correct formula.

(a)
Ca2O


Incorrect -  CaO  (Ca2+)
(b)
SrBr2


Correct
(c)
AlCl2


Incorrect – AlCl3 (Al3+)
(d)
LiO


Incorrect – Li=O (Li+)
(e)
(NH4)3PO4 

Correct
4. Name the following ionic compounds:


(a)
K2S


potassium sulfide

(b)
(NH4)2SO4

ammonium sulfate

(c)
Ca(CH3COO)2

calcium acetate

(d)
Al(OH)3

aluminum hydroxide

(e)
SrCO3


strontium carbonate
5. Give formula for each of the following ionic compounds:


(a)
ammonium carbonate

(NH4)2CO3

(b)
calcium iodide


CaI2


(c)
aluminum phosphate

AlPO4

(d)
sodium oxide


Na2O

(e)
rubidium iodide

RbI
6. Name each of the following molecular compounds:


(a)
NF3

nitrogen trifluoride

(b)
HI

hydrogen iodide

(c)
BBr3

phosphorus tribromide

(d)
GeCl4

germanium tetrachloride

(e)
N2O5

dinitrogen pentoxide

(f)
P4S3

tetraphosphorus trisulfide

(g)
SCl2

sulfur dichloride
7. (a) What mass in grams is represented by 0.0255 mol of aspirin (C9H8O4)? (b) How many molecules in 0.0255 mol of aspirin?
(a) Need molar mass aspirin = (9 × 12.01) + (9 × 1.008) + (4 × 16.00) = 180.2 g/mol


g aspirin = 0.0225 mol × (180.2 g aspirin/ 1 mol aspirin) = 4.60 g

(b)   molecules aspirin = 0.0225 mol × (6.022 × 1023 molecules / 1 mol) = 1.54 × 1022 molecules
